INFRINER BHEFSHORE
MREIE
EEES MRS Y1 X [UcEBETS S8 1B

ZYl\ 1 {AIRAR g r 120 R2.10.26 Bi=

sl 3 {AIER ko4 T 120 R2.10.26 BHraeE
ZYI\ 4 {AIRAR Eo4 T 120 R2.10.26 B
sl 18 {AIER 8 E 140 |Ei R356 BH=EE
ZYI\ 19 {AIRAR B r 120 [¥46 R356 B
sl 23 {AIER B T 140 |[BEXRY R356 BH=EE
ZYI\ 24 {AIRAR B T 130 |5/ R356 B
sl 27 {AIER B T 120 |%/%v R3.7.30 BH=EE
i) 28 {AIRAR B T 120 |5/ R3.7.30 B
sl 32 {AIER B — 150 |5/ % R3.12.21 BH=EE
i) 33 {AIRAR B — 130 |%/\Y R3.12.21 Bisee
R 34 ryedi =) — 130 |m@/XY R3.12.21 BHEE
i) 37 {AIRAR T 120 |%/\Y R4.1.14 B
R 38 ryedi T 120 |5/ R4.1.14 BH=EE
i) 39 {AIRAR — T 130 |%/\Y R4.1.14 B
R 441 ryedi — T 130 |/ R4.1.14 BH=EE
i) 43 {AIRAR — T 130 |%/\Y R4.1.14 B
R 44 ryedi — T 130 |/ R4.1.14 BH=EE
s\ 45 {AIRAR — T 140 |%/XY R4.1.14 BHAE
ZYl\ 46 IR — T 140 |5m/XY R4.1.14 BH=eE
s\ 48 {AIRAR — T 140 |%/XY R4.1.14 BHAE
ZYl\ 49 IR — T 140 |5m/XY R4.1.14 BH=eE
s\ 52 {AIRAR — T 150 |5/ %Y R4.1.14 BIAE
ZYl\ 53 ryedi — T sSs |®m/vv R4.1.14 BH=eE
s\ 55 {AIRAR — T g |Em/NY R4.1.14 BIAE
Zli\ 56 {AIRAR — T 8y |E/Y R4.1.14 BHAeE
sl 58 {AIER — E 120 |¥#@ 5NHD R4.1.14 BHrAeE
Zli\ 59 {AIRAR — t 120 [¥# B5nHO R4.1.14 BHAEE
sl 61 {AIER — E 130 |46 R4.1.14 BHrAeE
Zli\ 63 {AIRAR — t 130 [¥# B5nHO R4.1.14 BHAeE
sl 64 {AIER E 130 |¥m@ BENHD R4.1.14 BHrAeE
Zli\ 67 {AIRAR t 140 ¥ BSnHO R4.1.14 BHAEE
sl 71 {AIRAR B T 140 (@)Y BnHO R4.33 BHrAeE
ZYl\ 72 {AIRAR B r 120 | ¥4 R4527 B
sl 73 {AIER =) t 120 | ¥4 R4527 BHraeE




INFRINER BHEFSHORE
MREIE

EEES MRS Y1 X [UcEBETS S8 1B
ZYl\ 74 {AIRAR ko4 r 120 | ¥4 R46.22 Bi=
sl 75 {AIER Z t 130 |46 R4.6.22 BHraeE
ZYI\ 76 {AIRAR Eo4 T 120 |5/ R46.22 B
sl 77 {AIER ko4 T 120 |%@/% R46.22 BH=EE
ZYI\ 85 {AIRAR — T Ss |mE/IY R47.1 B
sl 94 {AIER — T Ss|mE/sY R5.32 BH=EE
i) 95 {AIRAR — T 150 |5@/X%Y R5.4.25 B
sl o7 {AIER — E 140 |%/%Y R5.11.20 BH=EE
i) o8 {AIRAR — T 150 |5/ R5.11.20 B
sl 99 {AIER — T Ss|mE/sY R5.11.20 BH=EE
w100 | &R — T Ss |mE/Y R5.11.20 Bisee




ITEINEERS SHGESHOHE

MBI
BESES et g1 RTEBDETS Y8 1B
Ea 64 RIRAR - £ 120 RS. 7.11 BH=EE
Ea 68 RIRAR - £ SS R5. 1214 BHREE
w70 RIRAR - £ SS R5. 1214 BH=EE
wEah 73 RIRER - T SS R5. 1214 BHUL=EE
w74 RIRAR - ® SS R5. 1214 BH=EE
w76 RIRAR - T 140 R6.4.8 BHUL=EE




EIEINFER SHGESBOIRTE

BESES et g1 RTEBDETS Y8 1B




FENFINFERE SHGESBOIRTE

BESES et g1 RTEBDETS Y8 1B




BRINER SHGESBOIRTE

MBI
BESES et g1 RTEBDETS Y8 1B
=) 4 RIRAR — £ 140 R3.1.16 BH=EE
1| 6 1NIRAR — —F 130 R3.1.16 BHULREE
=) 7 RIRAR — ® 130 R3.1.16 BH=EE
=) 13 RIRER e i 150 R3.2.4 BHUL=EE
=) 14 RIRAR % "F 150 R3.2.4 BH=EE
=) 15 RIRER e T 150 R3.2.4 BHUL=EE
=) 16 RIRAR — £ 120 R3.2.9 BH=EE
=) 19 RIRER — T 120 R3.2.9 BHUL=EE
=) 21 RIRAR — £ 150 R3.2.20 BH=EE
=) 32 RIRER — i M wnoon R3.6.7 BHUL=EE
=) 35 RRAR — T M wnon R3.6.7 BH=EE
=t 40 RIRAR — T SS R4.47 BHI=EE
=) 41 AR — £ 120 R4.413 BH=EE
=t 42 RIRAR — i 120 |R—ABD BNHO R4.413 BHU=EE
=) 43 RRAR — T 120 R4.413 BH=EE
=t 44 RIRAR — T 120 R4.413 BHI=EE
=) 45 AR — T 140 R4.413 BH=EE
=t 46 RIRAR — T 150 R4.413 BH=EE
=) 50 RIRAR 24 £ 130 R4.7.21 BH=EE
=t 51 RIRAR k24 i 140 R4.7.21 BHI=EE
=) 52 RIRAR 24 T 130 R4.7.21 BH=EE
=t 53 RIRAR k24 T 140 R4.7.21 BHI=EE
=) 54 AIRAR % £ 130 |R—A8D BNHO R4.9.15 BH=EE
=t 55 RIRAR L3 i 130 R4.9.15 BHI=EE
=) 56 RIRAR % £ 140 R4.9.15 BH=EE
=) 57 RIRAR C3) £ 140 R4.9.15 B =EE
1®IN 59 AIRAR % ® 130 R4.9.15 BHULREE
=) 60 RIRAR 5 T 130 R4.9.15 B =EE
1®IN 61 AIRAR % ® 140 R4.9.15 BHULREE
=) 62 RIRAR 5 T 150 R4.9.15 B =EE
1®IN 63 AIRAR % ® SS R4.9.15 BHULREE
=) 64 RIRAR 5 T SS R4.9.15 B =EE
1®IN 65 1RIRAR z £ 130 R4.9.15 BHULREE
=) 66 RIEAR 24 "F 130 R4.9.15 BH=EE
=) 67 RIRAR 24 £ 120 R5. 4.1 BHREE




=) 68 RIRAR E24 £ 120 |'Bn®»0 R5. 4.1 BHREE
=) 69 RIRAR 24 "F 120 RS. 4.1 BH=EE
=) 70 RIRAR E24 "F 120 R5. 4.1 BHREE
=) 71 RIRAR — £ 140 R5.4.19 BH=EE
=) 72 RIRAR — £ 140 R5.4.19 BHREE
=) 73 RIRAR — £ SS R5.4.19 BH=EE
=) T4 RIRAR — i SS R5.4.19 BHUL=EE
=) 75 RIRAR — ® 140 R5.4.19 BH=EE
=) 76 RIRAR — T 140 R5.4.19 BHUL=EE
=) 77 RIRAR — ® SS R5.4.19 BH=EE
=) 78 RIRAR — T SS R5.4.19 BHUL=EE
=) 80 RIRAR — £ SS RS5.4.27 BH=EE
=) 81 RIRER — i SS R5.4.27 BHUL=EE
=) 82 RRAR — £ SS R5.4.27 BH=EE
=t 83 RIRAR — T S R5.4.27 BHI=EE
=) 84 AR — T S R5.4.27 BH=EE
=t 85 RIRAR — T S R5.4.27 BHU=EE
=) 86 RRAR — T S R5.4.27 BH=EE
=t 87 RIRAR — T 130 R5.4.27 BHI=EE
=) 88 AR — T 130 R5.4.27 BH=EE
=t 89 RIRAR — T 150 R5.4.27 BH=EE
=) 90 RIRAR — T 120 R5.5.26 BH=EE
=t 91 RIRAR — T 140 R5.5.26 BHI=EE
=) 92 RIRAR — £ 140 R5.10.12 BH=EE
=t 93 RIRAR — T 140 R5.10.12 BHI=EE
=) 94 AIRAR — £ 130 R6.3.15 BH=EE
=t 95 RIRAR — i 130 R6.3.15 BHI=EE
=) 96 RIRAR — T 130 R6.3.15 BH=EE
=) o7 RIRAR — ® 130 R6.3.15 B =EE
=) 98 AIRAR — £ 140 R6.327 BH=EE
=) 99 RIRAR — £ 140 R6.327 B =EE
=) 100 AIRAR — £ SS R6.327 BH=EE
=) 101 RIRAR — £ SS R6.327 B =EE
=) 102 AIRAR — T 140 R6.327 BH=EE
=) 103 RIRAR — ® 140 R6.327 B =EE
=) 104 AIRAR — T SS R6.327 BH=EE
=) 105 RIEAR — "F SS R6.327 BH=EE
=) 106 RIRAR — £ 150 R6.4.9 BHREE




1| 107 RIRAR 150 R6.4.9 BHREE
=) 108 RIRAR 160 R6.4.9 BUSEE
1| 109 RIRAR 150 R6.4.9 BHREE




RN ER SHGESBOIRTE

MBI
BESES et g1 RTEBDETS Y8 1B
) 1 RIRAR — £ 130 R6.4.8 BH=EE
7 2 RIRAR — £ 130 R6.4.8 BHREE
) 3 RIRAR — £ 150 R6.4.8 BH=EE
7 4 RIRER — T 130 R6.4.8 BHUL=EE
) 5 RIRAR — ® 130 R6.4.8 BH=EE
7 6 RIRAR — T 130 R6.4.8 BHUL=EE
) 7 RIRAR — ® 130 R6.4.8 BH=EE
7 8 RIRAR — ® R\ R6.4.8 BHUL=EE
7/ 9 RIRAR — ® ! R6.4.8 BH=EE




IRERINFERE SHGESBOIRTE

BESES et g1 RTEBDETS Y8 1B




=HENER SHGESBOIRTE

BESES et g1 RTEBDETS Y8 1B




BEINER SHGESBOIRTE

BESES et g1 RTEBDETS Y8 1B




BRINER SHGESBOIRTE

BESES et g1 RCIEBDECS Y8 1B

BRI 1 RIRAR — £ 140 R5. 530 BH=EE

RN 2 RIRAR — £ 140 R5. 530 BHREE




MRPER SHEESHIRIE
MBEE
EEES R H1Z RICBBETS Y8 1B
Hp 90 | #IR 23 b o |EA 2H-+ R3.621 i@itaes
fip 98 198 L2 T Wl |=zm =n—+t R4.1.12 BULRLE
Ap 101 | HIER % T wee |l&m =n-tk R4.2.19 RS
fep 102 | #IER 24 T WS |=m 20— R4.2.19 AL
AP 103 | HIER % L A B2 e R R4.2.19 BHRLE
fep 115 | #IR 24 — S |z 2k R5.3.15 AL
b 128 | KIRER 2 t 150 |E# R5.7.27 @it
w129 | AIRAR 2 t 150 |=# R5.7.27 R
b 132 | IRER 2 b 150 |RAMRY R5.7.27 @it
b 140 | IR — t =18 R5.12.14 R
AP 141 | HIER — t VAT R5.12.14 @itaee
P 142 | HIR — t M |=8R R5.1214 R
b 143 | IR — t VAT R5.12.14 @itaee
P 144 | HIR — t L =8 R5.12.14 R
B 145 | IR — t L =58 R5.12.14 @itaee
WP 148 | ARIR = T MRy R5.12.14 R
b 149 | AIRIR — b MRy R5.12.14 @itaee
fep 150 | AIRER — T M |EZRY R5.1214 R
fh 153 | AIRIR — b M |EZRY - BB R5.12.14 @itaee
WP 154 | GIRIR — t ESC I R6.315 BHRE
b 155 | AIRIR — I eI R6.3.15 @it
WP 156 | AIRIR — t ESINES R6.315 BHAE
fh 158 | WIRIR — b M |EZRY R6.3.15 @itaee
feh 159 | AIRIR — t s |¥m R6.4.23 BHAE
b 160 | AIRER — I s |¥@ R6.4.23 @itaee
WP 161 | AIRIR — t L | R6.4.23 BHRE
fh 162 | IRER — t L | R6.4.23 eie=
WP 163 | IRIR — IS s |E# R6.4.23 i@ites
b 164 | IRER — t s |E#® R6.4.23 eie=
WP 165 | IRIR — IS L |Ew R6.4.23 i@ites
b 166 | IRR — t L |Ew R6.4.23 eie=
WP 167 | IRIR — T s |mry R6.4.23 i@ites
fh 168 | IRR — T s |miy R6.4.23 eie=
Rep 169 1RIRAR — 'F L STAM R6.4.23 BHULREE
fep 170 | AIRER — T L |m/xy R6.4.23 R




il 171 RIRAR 'F S RARY R6.4.23 B =EE
il 172 RIRAR T S RAMY R6.4.23 BUSEE
il 173 RIRAR 'F L RARY R6.4.23 B =EE
il 174 | {RER T L RAMY R6.4.23 BUREE




HRBEAPER

BI6ESHAOIRKE

EEES MRE 12 KRICEBECS S]] 1B
isfe 5 AR k4 r 4 T—35—. RN—DEF R2.10.20 TJ—BNYDBHTD
Fach 7 Gl g i 150A [£—5— R2.11.30 BUALE
Gilea) 8 AR ks r 150A |&2—35— R2.11.30 BUREE
icfes 9 AR k4 il 150A |E2—5— R2.11.30 B =EE
Gilea) 14 AR ks r 4 T-5—. #HOCE>o>NE R2.12.2 BUREE
icfes 24 AR B ~ wo2 |BA R3.1.19 B =EE
fh 25 IR g i= M |[g=5— 2N—D&E R3.1.22 iR
[isfes 30 AR k4 ~ 66-54 |ER R3.2.6 B =EE
Gilea) 31 AR ks ‘F 66-57 (ER R3.2.6 BUREE
fk 33 AR £o4 * Reg =M. wnE R3.2.6 iR
[isfes 34 AR ks r 186A ([2—5— R3.217 BUREE
#h 37 | 2H-2 £o4 — — |v=zB R3.2.17 iR
fd 40 IR g r M [BENTRYD (B R3.4.7 iR
fig 42 AR £o4 r 155 |EATSD ¥ R3.4.7 EirRee
fd 43 IR g r RO |EATSOREH R3.4.7 R
fh 44 AR £o4 r RO |EATSOREM R3.4.7 iR
mh 47 AR £y T wee  |zh—-+k &M R3.4.12 BHAEE
B 48 | 2H-D £o4 — — |v=zB R3.4.12 e
[isfe 54 AR k=4 r 156A ([2—5— R3.4. 22 B =8
fid 58 AR g r B4 |[E—35—-MKTvkCR&BD | R3.524 iR
fih 64 AR 2 r X |EEHYY- R367 BURE
Cilea) 83 il [i5 k4 ind 155A |2—5— R36.10 BUREE
[isfe 87 AR k=4 r 165A ([2—5— R4.21 B =8
wp 89 AR £24 T wo =M R421 BAeE
Cizlea) 90 AR ks i 170A  |EZ—5— R428 B =8
Cilea) 91 AR a i 1658 |tZ—35— R428 BUREE
izl=a] 92 AR ko4 i 1688 |Z—2— MHRyIiEL R428 Bt =8
g 94 AN=2 k4 — — R4.228 BUREE
A 95 2N=2 k=4 — — V=H R4.228 Bt =8
fd 98 IR = r 160 |2 R4.3.1 iR
k99 IR 3 r 160 |=A R4.3.1 BUrAes
Bh 108 |  #IER £o4 r 88 |[2—5-IR R4.323 iR
ek 109 | #IR g r 170A |£—5—IR R4.323 BUrAes
B 110 | #IR Z T | YE =M R4.323 wirsee
[isfes 113 AR ES ~ we4 |(ZA R4.3.28 HRZKtunagu




AP BHGESHIRAE
NBEE
BIRES RS Y12 SICEBECS e 187
wh 115 | R £ t | 7w |e-5-® R4.328 BRZtunagu
P 116 | HIEE £ T | FeE |2 R4.328 BERtunagu
wh 117 | R % T | *E (=W R4.3.28 BRZtunagu
Cices) 118 | RH—2 £24 — —  |2A R4.3.28 BRFRtunagu
BP 135 | IR g £ | 165A |2—5—f8 R4.4.14 SRS
wh 136 | IR £ T | wes |z R4.4.14 B
mp 142 | KRR | B ® LL |EXRY R4.4.20 SRS
wh 153 | IR g £ | 150A |2=5—f& R5222 B
wh 154 | IR £ £ | 170A |58 R5.2.22 TR
Bmh 155 | #lE 24 T | Y8 |zn-r E=® R5.222 EHIES:
Bmh 156 | g g T | ¥ |za-r e R5222 TBHEREE
Bmh 158 | #lE <4 T | W8S |zn-r = R5.3.1 eSS
Bmh 159 | g 2 £ | 1e5A |£—-5—f8 R5.4.27 TBHEREE
wh 160 | IR £ T | 165a |2—5—fR R5.4.27 B
Bmh 161 | g g T | ¥ |zn-r =m R5.4.27 TBHEREE
Bmh 162 | IR <4 T | Y8 |zn-r = R54.27 Biaee
BmP 163 | IR g T | WS |zn-k =m R5.4.27 TBHEREE
wh 166 | 2n-D | % — - |zm R5.4.27 B




IR SHGESHORE
MREE
EEES mRS H1Z RICBBETS Ehhi= B

=P 3 #5158 23 t o8 |[£—5— R212. 4 BEFtunagu
=P 23

=h 58 | IR 3 I R NCERESY R4.310 R
R 106 AR k4 £ 160A [E—3>— R5.32 BHULREE
=h 107 | IR 23 T | wes |zm R5.32 R
=h 108 | #IR 24 T weo  |=m R5.32 BHREE
=h 109 | IR 23 I3 1554 |E2—5—fR R5.4.27 Bitaee
R 110 AR k4 £ 160A |EZ2—3—BR R5.427 BHULREE
=h 111 | HIR 23 r 155A |RWBTSHR R5. 4.27 R
=h 112 | IR % t T |EHTSIR R5. 427 @it
=P 113 | #IB 2 T WO |=p R5.4.27 WAL
=P 118 | #IEB 24 T W =R R5.4.27 @R
=P 120 | #IR 2 T wee  |=m R5.5.16 WAL
Rp 121 | #IB 24 T W =R R5.5.16 @R
=h 124 | IR 23 t | mme2 |RWTSVR R5.516 R
RPp 125 HIBR E<4 t 150A |RWHTSDR R5.5.16 BHULSEE
=h 132 | IR 23 I3 48 |e-5-R R5.5.19 Bitae
RPp 133 HIBR E<4 t 160A |E2—35—HR R5.5.19 BHULSEE
=h 135 | IR 23 ¥ i IES R5.519 BHAE
=P 136 | #IEB 24 T wed |zm R5.5.19 @R
=h 138 | #IR 23 T WeS =M Or2T—F R5.519 BHAE
RPp 139 HIRR £<4 t 186A  |RMT SR R5.5.19 BHULSEE
=h 142 | IR 23 — - |zn-2 R5.519 BHRE
=h 143 | IR 3 t | BNy — R5.5.16 @itaee
=h 144 | HUIR 23 b | 155A |E—5-1R R5.6.7 e
Rp 145 | #I8B 24 T W |=m R5.67 WAL
=h 146 | #IR “ T i IES R5.6.7 BHREE
=h 148 | IR 2 t 160 |E#NYS— R5.83 eie=
=p 152 | #IR ] r 160 |¥#n v — R5.83 BHREE
=h 153 | #IR = r 160 |0y s— R5.83 eie=
=P 156 | IER ] r VIRNES: R5.83 BHREE




IRFPER DHGESBRAE
MREE
EEES NRE H1Z SICEBETS Ehhi= 1B
/P 6 #5158 24 t EL  |[T502%4 R3.2.5 eHe=
P 23 | IR 24 t o |e-S5—M% R4.75 @itaes
| 27 | IR 3 £ | 160A |%5Y R4.75 Bitaee
RP 30 | IR 2 t T8 |EBwHyI— R4.75 @it
wmp 32 198 24 T t=m RS 3.16 AL
b 33 | #IR o4 T (WY, Y= R5.3.16 Bitaen
b 34 | GRIR — I3 s |Ew R5 317 Bitaee
RP 36 | WIRER — t s |Rw R5.3.17 @it
b 40 | IBER — I3 s |#w GBns0) RS 317 Bitaee
|P 44 | RIBIR — T s |miy R5.317 @it
b 46 | ARIR — T s |BEXRY WonEsD) R5 317 Bitae
R 47 | AIRER — T s |BXRY WonEsn) R5 317 @itaee




BEPER SHGESBOIRTE

BESES et g1 RTEBDETS Y8 1B




TREEEER SHEFESHRIE
mREE
SIRES NRS Y1 SICEBECTS SThis) 187
wE 15 | 4R S E | 190A |25y, RIV1TE R3.1.19 BURE
A& 18 | #IR = t RO |Nvs—¥w.v—oK YIE| R3.127 R
A& 19 | 4R Sl s R |Hvs—dm.v—ok YIE| R3.127 B
A& 20 | #IR = t R |NwsH—dw. -8 YIBE| R3.127 R
HE 44 | HIR Sl £ | 2038 |Hys—¥g . v—0E R3.2.19 witsee
#& 50 | IR 2 £ | 180A |%5v. RyVarE R3.3.5 Biame
nE 61 HUAR 7 s M |Em-v—o R3.422 witsee
ws 62 | R £ t M| v—o8 R3.422 Biame
#s 63 | R 7 E M| v -8 R3.422 Bt
ws 64 | R £ t M| v—o8 R3.422 Biame
wE 74 | HIB Sl s REE | - 7 R3.524 witsee
ws 97 | HR = t R |%mHvsS— B BEHBHD | R3.7.145 BiAmE
& 98 | #IR S s T |dwHvs— B BEHBD | R3.7145 witame
A& 100 |  #IR = t R |EWHvS—-B BEHBHD | R3.7145 BiamE
#s 101 | IR S s T |EMNvS—-B BEHBD | R3.7145 witame
w128 | HIB % ® | W8 |l=mzo-+ R4. 112 B
A 131 | HUR £ T | W8T |mman-+ R4. 1.12 BRE
we 143 | KER e t 3L |Em-@ R4.37 R
Fe 144 | 2B ] s 3L |¥wm-@ R4.37 witame
we 145 | (KER e D 3L |ExRY - R4.37 R
& 146 | (KR % D 3L |miv-g R4.37 Bt
we 152 | (KER e E LL (B8 R4.3.10 R
e 162 | (KR 7 r LL |E-@ R4.322 Bt
ws 175 |  HR oS E L |¥mTSHz -8 R4.56 HEFtUnagu
& 179 | HIR = £ | 180A |25vy R4.56 witame
#s 181 | R S I B4 |HwHuH— - @ R4.56 R
W& 184 | (KIBER % r 3L |Em-g R4.56 witame
#& 185 | (KER S I 3L |¥m-g R4.56 BHRE
wE 187 | (KB ] D 3L |ExRY-@ R4.56 witame
#s 190 | kR — E £18 - 7 R4.62 HERFtUnagu
i) 191 RIS i M R - % R4.6.2 HRKtunagu
we 192 | kR — E VI R4.62 HERFtUnagu
i) 193 RIS — i M 3 - 1% R4.6.2 HRKtunagu
#s 201 | IR oS E Mo [AzZ - R4.727 BURE
wE 213 | (KBER E2e I VERNEZ R5.2.4 witame
#s 215 | KER 7 E Mo |m.s R5.2.4 BURE
nE 222 | (RIBER E2e I LL |¥w-5 R5.3.14 witame
we 223 | &ER 7 I LL |#-5 R5.3.14 BURE
wE 235 | IR = t T |EMAvS— B R5.3.16 witaee




TREEFIR SHEESHORIE
MR
EIRES NP YA SICBEBECS S8 2
w& 250 | IR 2 IS 3L |Rw-B R5.320 it
w& 251 | HIR 2 I3 3L |Ew-B R5.320 Bitse
wE 258 | IR 24 s BV [¥HTSOR - B R5.328 it
W& 259 | HIR z I3 BM [¥HTSOR B R5.328 Bitaee
wE 261 | HER g s Mo |Ew-E R5.328 it
wE 262 | (RIBER z I3 Mo |Ew.E R5.328 Bitaee
wE 263 | HER g s Mo ¥ B R—LBSENBD | R5.328 it
HE 264 | (RIBER z I3 VIR ET R R5.328 Bitaee
wE 265 | (RER g E Mo ENY B R5.328 it
wE 266 | (KRR z I3 Mo Y- B R5.328 Bitaee
W& 271 | IR 24 L wes  |=m R5.330 WA
s 272 | #IR 24 ® wes  |=m R5.330 BHLAEE
D= 273 AR k=4 + M N R5.3.30 BUREE
wE 274 | IR 2, IS Mo [TL— R5.4.11 B
s 276 | #HIR g T Wiz |=m R5.4.11 BURE
wE 277 | R 2, IS Mo [R2 R R5.4.11 B
e 279 |  #IR 24 L W |=zm RS. 4.11 WA
wm 281 | HIR 24 IS BM [¥HTSOR B R5.4.11 B
e 282 | #IR 24 L Wiz |=m RS. 4.11 WA
wE 283 | (RER z t VIREZ R R5.4.11 B
284 | (RIBER 24 I VIR EZ R R5.4.11 BHURE
wE 285 | (KRR z r Mo |EweB R5.4.11 BiReE
wE 286 | IR 24 I MR- E R5.4.11 it
wE 280 | IR % r g |BWTSUR B R5.4.11 BiReE
W 290 | HIR 2 b | zvso [¥wTSHZ-B R5.4.28 Bitaee
wE 201 | #IR = r A [EWTSIR B R5.4.28 BiReE
w202 | (RIRER 2 IS L |Ew-& R5.4.28 Bitaee
wE 293 | (KRR 3 IS L |Rw-& R5.4.28 BiReE
HE 204 | (RIBER 2 IS L |Ew-5 R5.4.28 Bitsee
wE 205 | (KRR 2 s L |Rw-5 R5.4.28 BitaeE
HE 206 | (RIBER 2 IS L |Ew-5 R5.4.28 Bitsee
wE 207 | (KB 2 s L |Rw-5 R5.4.28 BitaeE
wE 208 | (RIBER 2 IS L |Ew-5 R5.4.28 Bitsee
#& 303 | IR ] T | wro |=m R5.516 BitaeE
#® 304 | HIR 2 IS o5 |R# B R5.5.16 Bitsee
#& 305 | #IR 2 r o8 |=m R5.516 BitaeE
#® 307 | HIR 2 IS o5 |R# B R5.5.16 Bt
wE 313 |  #IR 2 IS o5 R B R5.7.21 it
w& 314 | HIR = IS o5 |R# -5 R5.7.21 Bitse




HREEEER SHGES ORI

= et oA X RUCZBDETS Fit8 1B

315 AR ES i ENEIE R5. 7.21 BH=EE
316 Gl 5 i E e R R5.7.21 BH=EE
318 AR ES £ 155A [#5Y R5. 727 BH=EE
323 AR ES i EN e R5.7.27 BHREE
324 AR ES i ENEIE R5.7.27 BHREE
326 AR k24 £ BL |FULY-— R6.3.6 BH=EE
330 AR k24 i BL [¥#WT5DX -7k R6.3.6 BHREE
331 AR 4 £ BL [¥#WTSDR 7K R6. 36 BH=EE
341 AR k24 i BL [RXZhk R6. 36 BHREE
342 AR 4 £ M JQuy— R6. 4.1 B=EE
343 AR k24 'F 66-59 (AT R6. 4.1 BHREE
344 AR k24 F 66-59 |(EARAN—+ R6. 4.1 BH=EE
345 HIAR k24 i M N2+ R6. 4.1 BULREE




FRENT (DER « BRESSTEFEATEEY) SHGES PRI
VREIE
BRES MRS P12 SlCx3ECS Elhi= 157
88 14 IR % r 155A |25V, PRAMRS Vi R3.3.12 ‘=
Reg 18 #IIR = IS 155A |%5Y R3.1025 B
R85 19 IR 3 r 165A |25 R3.1025 s
R8s 24 IR = E 180A |25 R4. 3.1 BURRE
Re§ 29 IR % T w7 |Em R5.6.14 Ut




